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ECONOMICS
( Major )

Paper : 6.1

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions -
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(@) What is incremental budget?

34F S0 9 ?

(b) Give an example of neutral tax.
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(c) Write the meaning of canon of equity as g
characteristic of good tax system
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(d) State one objective of fiscal pojicy
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(b) Distinguish between progressive and
proportional taxes. Consider their
advantages and limitations. 6+4=10
TR W Epfee 999 wwe A1
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(c) Classify impact, shifting and incidence of

tax. Explain the concept of forward and
backward shifting of tax. 6+4=10
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(d) What do you understand by taxabl.e
capacity? On what factors does 1t

depend? 4+6=10
T ML Ifercer s g 7 2 6 6 T @71
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(e) Discuss the ability to pay theory of tax.
What are its merits and demerits? 10
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() What do you mean by fiscal policy?
Explain the rgle of fiscal policy in

developing countries. 2+8=10
T A e B @ ? ST G
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